= 11BDZFH

RE

w8
& oS

>t oim o
]

&= F
= Fl

Fihan 4=

ik
Pk
ik
Pk
L
H*E
#*E
H*E

AN
=

SH
Al

Tt
X

il e
£
Rz
N
[EES

&0

i
3
3
e
B
B
i
(3
i
3
B
3
B
3
B
3
3
B
3
B
3
B
3
B
3
B
3
B
Fx
e
3
e
B
B
3
L&

#RE AT
BRIRAD
BRIRER
IR
ibimE
tisE
RERRT
=R
B340
BER
tigE
BER
tigE
FELILIE
AR
NS
PN
NS
BRIRHD
BRIRER
FER
KR AT
EER
IR
FER
HEE
BRIRHD
BRIRER
DT
BRIRAR
tisE
BRIRAD
BRIRAD
BRIRHD
tisE
EER
LENIES

IR
HiE™
FLiR
FLAETH
RERT
RIR™
KETH

AV 37

FLIR
J\ETH
FLIR
IR
ML
i
REH
HmEm
HEARX
TN
kT
WETH
WA
JINE T
AT
ERm
IR
HER
RERT
BRRX
LR
KHEER
BEBR
hRX
BN
FEm
HETh

505 I TIRE

ZHie%E
—& 62,000
—& 12,000
—& 51,000
— 61,000
—% 77,000
—& 77,000
—%& 62,000
—& 61,000
—%& 15,000
—& 90,000
— % 35,000
—& 56,000
—%& 10,000
—& 10,000
—%& 20,000
—& 25,000
—& 20,000
—& 90,000
—& 51,000
—& 17,000
—& 62,000
—& 32,000
—& 25,000
—& 90,000
—& 20,000
—% 23,000
—& 77,000
—% 62,000
—& 62,000
—% 18,000
—& 51,000
—%& 37,000
—& 11,000
—% 12,000
—& 50,000
—% 77,000

H HHHHABEBEHEAHEAEHEAEAEBHEAEAHEHIBEAHEHAEHEIEHIEAEHRABEHEHIBEHIEAERABEBIHEHIAEHABEIA EH



FH =RF
A i
A B
EA 5
NG BE
N ERER
EL =#
hndy e
g EKER
Fifs E—
sy BF
i #
iE =2
AH BKF
'R

=

ZR A
ZR Al
RS EZ
Rl ST
INEY AT
INE {Z5h
ik |l
&R HE
ERR
1% =RE
£k —&
£k £
ik EZE
£k =M
ik &
£k =F
£k RIE
=N FIE

E E H H
Bl mi B

TR FHt
Bk ffi—
B B

#IE TR
EER
RRHR
FEINN
ibimE
+
tER
=
i
It
LN
ZHR
RIRAD
R#D
RRAD
JtimE
RR#D
R
RHD
ibimE
R#D
RIRHR
ibimE
ibimE
R#D
MEE
EER
RIRAR
EHR
AR
R#D
JtimE
MEE
R
KB AF
FER
dbimE
R

=

Am  m

\|

_H

N\
i

i
i
i

\]
/)

i

i X ET 4T

ES2 407 —&
FHRER —=
JIE T —%
ALig —%
J\#EAT —%
WA —&
FEM —&
—=Bmh —%
RTED —&
1R —%
BT —F
XHE —&
BT E —&
ABX —%&
FLiR —&
BEX —%
HERX —&
HEX —&
FLiR —%
REHT =
pN ]S —&
FLIR —&
eI —%
103 —&
@ —&
wEH —&
FHRER —%
aHEH —&
BIR —%
HEX —&
KEH =
FLiR —&
fEH —&
BRX —&
Nl —&
ramh —&
FLIR —&
EHK —&

ikt 4E
90,000
51,000
20,000
30,000
62,000
12,000
50,000
90,000
103,000
12,000
61,000
62,000
18,000
90,000
62,000
48,000
310,000
255,000
18,000
62,000
20,000
30,000
51,000
25,000
55,000
77,000
77,000
62,000
77,000
10,000
61,000
12,000
167,000
77,000
77,000
62,000
11,000
62,000

H B HHHEHAEBHEHEHAEBHEAEAHEIEHAEHEAEAEHEAHEAEAEAEABEIEIAEHIAEAHABEBIHEHIBEAHIEAH B H A



B B o m o
Bi F & T H

0
O

S
KE
i
7l
&
L
0
HH

X
2>

A
M
*
Bz
LES
4
B
75 i
CESS
Y
[E4

# IEAI
# R5h
" #ME

B
Tl
e

>t
Ho}

LN

B
i
3

B

3

3
B
3

B
3
B
i
L&
3
L&

#IE TR
BRI
WmAR
FEINN
ibimE
dbimE
RIRHD
ZHR
dbimE
R#D
LN
JtimE
EER
R#D
FER
FEEINN

B R
REHR
AR
REHR
D
FER
D
LER
FER
REAR
EHR
BHE
KB KT
AR
EER
AR
jtisE

i X ET 4T

Eim il —%
A —%
WwaEEm @
INMETH —&
AR —&
=X —&
ZHER %
AR —%
RIERX —%
=% —%
FLIR T —&
AR —%
HEX —%
fotgT™ —&
JIg T —&
ENT —%
bl — &
ENT —%
Bz —&
hE X —&
&F™ —%
FRER &
EARX —%
fE LT —%
BEERM =
IN=Ti7] —&
FEm —&
XERE —&
2™ —&
&I —&
Nl —&
HBX —&
=0 —&
XHE —%
FLIR —&
SvFEm
FHEH =

Zr Mt 58
20,000
20,000
77,000
11,000
62,000
20,000
30,000
62,000
77,000
20,000
90,000
34,000
51,000
40,000
11,000
58,000
13,000

51,000
30,000
77,000
16,000
72,000
20,000
18,000
30,000
51,000
105,000
62,000
20,000
35,000
15,000
51,000
18,000
20,000
62,000
20,000
717,000

H HHHHEHAEBHEAHEHAEBHAEAHIBEAHAEIHIA

H H3ABHAHEHAEHEHAEAHRHEHAEHEAEAHRIBEAEHABEAH A



K4
12iE
i H
AR

L3

W

/AZS

—_
—_

—_

KE
K&
(2N
#E
LSPN

BEF

®LA X

#H
ZIR
wA
LI
I
11N
EEid
= H

i
BT

AR AER

® =2

g
U]
N-—N=|

IR

I

By

I#E—
BEC

3

BT IR
FER
jtiEE
RAD
BN
REHR
D
BN
KB FF
R AR
RAD
B
EER

EER
AR
EHR
EHR
AR
BN
AR T
BN
FHR
it

_r

N
i

fmk

T R ETAS
Il
&
HEARX
HET
HEARX
PREX
NI
RKRR
BRRX
X
HEFET
EEM
&t
IR
MET
FiEH
BEEM
HEE™
X
MR
RERT
MR
AEEM
Sloht
tLigm

ikt 4E
62,000
10,000
62,000
21,000
77,000
61,000
62,000
16,000
17,000
77,000
77,000
77,000
77,000
30,000
20,000
55,000
62,000
90,000
15,000
16,000
77,000
58,000
61,000
34,000
61,000

B = o = = = = = o = = = = = = = = [ = B = B =



